Divide by 0.1 (A)

Find each quotient.

9.19 + 0.1 = 2.604 +0.1=
0.08 0.1 = 7.9873 - 0.1 =
2.175+0.1 = 0+-01=
0.0119 - 0.1 = 0.8+0.1=
2.85+0.1= 8.9 +0.1=
04-+0.1= 1.897 - 0.1 =
53+0.1= 1.8142 +~ 0.1 =
1.3122 +0.1= 9.08 +0.1=
47 +0.1= 92-+0.1=
3.1+0.1= 09 +0.1=
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Divide by 0.1 (A) Answers

9.19+0.1=91.9

0.08+-0.1=0.8

2.175+0.1=21.75

0.0119 - 0.1 =0.119

2.85+0.1 =285

04+01=4

5.3+0.1=53

1.3122 +0.1=13.122

47 +0.1=47

31+01=31

Find each quotient.

2.604 - 0.1 = 26.04

7.9873 + 0.1 =79.873

08+01=8

89-+0.1=89

1.897 +- 0.1 = 18.97

1.8142 - 0.1 = 18.142

9.08 - 0.1 =90.8

9.2+0.1=92

09+01=9
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